

Confidentiality Requested:

Yes No

### Kansas Corporation Commission Oil & Gas Conservation Division

1156786

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

# WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #			API No. 15	
Name:			Spot Description:	
Address 1:			Sec	TwpS. R
Address 2:			Feet	from $\ \square$ North / $\ \square$ South Line of Section
City: Sta	ate: Ziŗ	D:+	Feet	from East / West Line of Section
Contact Person:			Footages Calculated from Ne	arest Outside Section Corner:
Phone: ()			□ NE □ NW	□ SE □ SW
CONTRACTOR: License #			GPS Location: Lat:	, Long:
Name:				. xx.xxxxx) (e.gxxx.xxxxx)
Wellsite Geologist:			Datum: NAD27 NAD27	
Purchaser:			County:	
Designate Type of Completion:			Lease Name:	Well #:
New Well Re-	Entry	Workover	Field Name:	
	_		Producing Formation:	
☐ Oil ☐ WSW	SWD	SIOW	Elevation: Ground:	Kelly Bushing:
☐ Gas ☐ D&A ☐ OG	☐ ENHR	☐ SIGW ☐ Temp. Abd.	Total Vertical Depth:	Plug Back Total Depth:
CM (Coal Bed Methane)	G3W	Terrip. Abd.	Amount of Surface Pipe Set a	and Cemented at: Feet
Cathodic Other (Core	Expl etc.)		Multiple Stage Cementing Co	
If Workover/Re-entry: Old Well Info				Feet
Operator:				nent circulated from:
Well Name:			, ,	w/sx cmt.
Original Comp. Date:			loot doparto.	W,
<u> </u>	_	NHR Conv. to SWD		
Deepening Re-perf. Plug Back	Conv. to GS		Drilling Fluid Management F (Data must be collected from the	
Commingled	Permit #:		Chloride content:	ppm Fluid volume: bbls
Dual Completion	Permit #:		Dewatering method used:	
SWD	Permit #:		Location of fluid disposal if ha	uled offsite:
ENHR	Permit #:		On a water Manage	
GSW	Permit #:			L'acces II
				License #:
Spud Date or Date Rea	ched TD	Completion Date or		TwpS. R
Recompletion Date		Recompletion Date	County:	Permit #:

#### **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

**Submitted Electronically** 

KCC Office Use ONLY						
Confidentiality Requested						
Date:						
Confidential Release Date:						
Wireline Log Received						
Geologist Report Received						
UIC Distribution						
ALT I II Approved by: Date:						

Page Two



Operator Name:				Lease N	Name: _			Well #:		
Sec Twp	S. R	East	West	County	i					
INSTRUCTIONS: Shopen and closed, flow and flow rates if gas to	ing and shut-in pressu	ires, whet	her shut-in pre	ssure reacl	ned stati	c level, hydrosta	tic pressures, bott			
Final Radioactivity Log files must be submitte						gs must be ema	iled to kcc-well-lo	gs@kcc.ks.go	v. Digital ele	ectronic log
Drill Stem Tests Taken (Attach Additional S		Ye	s No		L		n (Top), Depth an			nple
Samples Sent to Geol	ogical Survey	Ye	s No		Nam	е		Тор	Dat	um
Cores Taken Electric Log Run		☐ Ye ☐ Ye								
List All E. Logs Run:										
			CASING	RECORD	Ne	w Used				
		Repor	t all strings set-c	conductor, su	rface, inte	ermediate, producti	on, etc.			
Purpose of String	Size Hole Drilled		Casing (In O.D.)	Weig Lbs. /		Setting Depth	Type of Cement	# Sacks Used	Type and Addi	
			ADDITIONAL	CEMENTIN	IG / SQL	JEEZE RECORD				
Purpose:  Perforate  Protect Casing  Plug Back TD	Depth Top Bottom	Туре	of Cement	# Sacks	Used		Type and P	ercent Additives		
Plug Off Zone										
	ulic fracturing treatment or otal base fluid of the hydra ing treatment information	aulic fractu	J	,	U	? Yes	No (If No, ski	p questions 2 ar p question 3) out Page Three		)
Shots Per Foot			D - Bridge Plug ach Interval Perf				cture, Shot, Cement mount and Kind of Ma		d	Depth
TUBING RECORD:	Size:	Set At:		Packer At		Liner Run:				
TOBING NECOND.	Size.	Sel Al.		racket At		Liller Rull.	Yes No			
Date of First, Resumed	Production, SWD or ENH	IR.	Producing Meth	nod:	g	Gas Lift C	other (Explain)			
Estimated Production Per 24 Hours	Oil B	bls.	Gas	Mcf	Wate	er Bl	ols. G	as-Oil Ratio	(	Gravity
DISPOSITIO	ON OF GAS:		N	METHOD OF	COMPLE	ETION:		PRODUCTION	ON INTERVAL	<u>.</u>
Vented Sold			pen Hole	Perf.		Comp. Con	nmingled mit ACO-4)			
(If vented, Sub	omit ACO-18.)		ther (Specify)		(SUDMIK )	-00-0) (SUDI	IIII ACO-4)			

Form	ACO1 - Well Completion
Operator	Lotus Operating Company, L.L.C.
Well Name	Piester 'B' 1
Doc ID	1156786

## All Electric Logs Run

Dual Induction
Neutron Density w/PE
Sonic
Micro

Form	ACO1 - Well Completion
Operator	Lotus Operating Company, L.L.C.
Well Name	Piester 'B' 1
Doc ID	1156786

## Tops

Name	Тор	Datum
Heebner	3920	-1915
Brn Lm	4086	-2081
Lansing	4101	-2096
ВКС	4482	-2477
Cher Sh	4604	-2599
Miss	4636	-2631
Viola	4745	-2740
Simp Sh	4822	-2817
Arb	4962	-2957
LTD	5008	-3503



RECEIVED

JUL -8 2013

## INVOICE

Invoice Number: 137111

Invoice Date: Jun 26, 2013

Page:

1

Fax: (817) 2

PO Box 93999

Southlake, TX 76092

(817) 546-7282 (817) 246-3361

Bill To:

Voice:

Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202 Now Includes:



Customer ID	Field Ticket#		Payment Terms	
Lotus	59901		Net 30 Days	
Job Location	Camp Location	Service	Date D	ue Date
KS1-01	Medicine Lodge	Jun 26,	2013	7/26/13

Quantity	Item	Description	Unit Price	Amount
		Prester B #1		· · · · · · · · · · · · · · · · · · ·
141.00	MAT	Class A Common	17.90	2,523.90
94.00	MAT	Pozmix	9.35	878.90
4.00	MAT	Gel	23.40	93.60
8.00	MAT	Chloride	64.00	512.00
252.00	SER	Cubic Feet	2.48	624.96
621.45	SER	Ton Mileage	2.60	1,615.78
1.00	SER	Surface	1,512.25	1,512.25
30.00	SER	Pump Truck Mileage	7.70	231.00
30.00	SER	Light Vehicle Mileage	4.40	132.00
1.00	CEMENTER	Carl Balding		
1.00	CEMENTER	Darin Franklin		
1.00	CEMENTER	Jason Thimesch		
		GL# 9208 DESC. <u>coment surf</u> WELL# Piostb	EI	NTERED In 3 0 2013
PRICES AR	E NET, PAYABLE	Subtotal	7-10-41-2	8,124.39
DAYS FOLLO	OWING DATE OF			292.61
	2% CHARGED IF ACCOUNT IS	Total Invoice Amount		8,417.00
	TE DISCOUNT OF	Payment/Credit Applied		
,				

**TOTAL** 

\$ 1,868.61

ONLY IF PAID ON OR BEFORE
Jul 21, 2013

8,417.00

\$ 6548.39

# ALLIED OIL & GAS SERVICES, LLC 059901 Federal Tax 1.D.# 20-5975804

REMIT TO P.O. I		9 TEXAS 76	092		SERVICE POINT: Medicine Lodge			
DATE 6-26-	SEC 3	TWP. 29s	RANGE 16 W	CALLED OUT	ON LOCATION	JOB START	OB FINISH N	
0.1.		_	1	^	D . ,	COLINTY	STATE	
LEASEPICSTO	WELL#	B-1	LOCATION Sun	City Rolt	Delvideer	Kiowa	Kansas	
OLD OR NEW (C	ircle one)		Black-top	6 N, 1E	1/2 N/E			
CONTRACTOR	Duk			OWNER	Lotus C	Ppera tiv	19	
TYPE OF JOB _ HOLE SIZE /	50rf0			CEMENT		,	1	
CASING SIZE	10 3/4	T.D. Def		CEMENT AMOUNT OF	DEDED			
TUBING SIZE	<i>71</i>	DEF			60:40:3%	cc + 7%.60	7	
DRILL PIPE		DEF				<u> </u>		
TOOL		DEF	TH		A			
PRES. MAX 20	<u> </u>		IIMUM	_ COMMON_			2523-90	
MEAS, LINE	N. CCC	SHC	DE JOINT	POZMIX	94 sx	_ @ <u>4:35</u>	878.90	
CEMENT LEFT II PERFS.	N CSG.			GEL	4 5X	@Z3.40 @ 64.00	93.60	
DISPLACEMENT	-	Rhle	Freshwater	CHLORIDE _ ASC	8 5X	@ <i>_57.00</i> 	512.60	
DISTERCEMENT			TIESHWATE	ASC		@ <del></del>		
	EQU	HPMENT						
			. 2 /./-	_				
		~	1 Balding					
# <i>553-558</i> BULK TRUCK	HELPER	<u>Dari</u>	n Franklin					
#356	DRIVER	Taca	Thimesch			@		
BULK TRUCK	DIGITER	Jason	1111116321			@		
#	DRIVER				20	-@ <del></del>	12/10/	
				HANDLING_ MILEAGE <b>_2</b> (	2.71/30/2	260	111578	
	DE	MARKS:		WILLEAGE	2.11/20/6		12/19/14	
	K.E.	WAKKS.			-	TOTAL	6249.14	
					SERV	ICE		
						ICE		
-thui	. 400	)		DEPTH OF JO	OB <u>277′</u>			
Thanl	e 400	)		PUMPTRUC	OB <u>277 '</u> K CHARGE _/	1512. 23		
Thanl	e you	)		PUMP TRUC EXTRA FOO	OB	/5/2、 <u>23</u> @	231.00	
Thanl	e 400	)		PUMP TRUC EXTRA FOO MILEAGE	OB _277 ' K CHARGE/ TAGE	1512. 23	231.00	
Thanl	e you	)		PUMP TRUC EXTRA FOO	OB _277 ' K CHARGE/ TAGE	/5/2·25 @ @ 7.70	231.00 132.00	
				PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD.	OB _277 ' K CHARGE/ TAGE 30	/S/2. 33 @ @ 7.70 @		
CHARGE TO:	ko tu	s Ope	erating	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD.	OB _277 ' K CHARGE/ TAGE 30	'512. 23 @ 7.70 @ 440 @	/32.00	
CHARGE TO:	ko tu,	s Ope	/	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD	OB _277 ' K CHARGE/ TAGE 30	'512. 23 @ 7.70 @ 440 @		
CHARGE TO:	ko tu,	s Ope	erating ZIP	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD	OB _277 ' K CHARGE/ TAGE 30	'5/2, 22 @ 7.70 @ 7.70 @ 440 @ TOTAL	132.00	
CHARGE TO:	ko tu,	s Ope	/	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD	OB277 ' K CHARGE/ TAGE	/5/2 · 23 @ 7.70 @ 7.70 @ 4/40 @ TOTAL	/32.00 /875.25	
CHARGE TO:	ko tu,	s Ope	/	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD	DB _277 ' K CHARGE _/ K CHARGE _/ TAGE 303030 PLUG & FLOA	/5/2 . 23 @ 7.70 @ 7.70 @ 4/40 @ TOTAI	/32.00 /87.5.25	
CHARGE TO: STREET CITY	Ko Lu.	s Ope	ZIP	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD	DB _277 ' K CHARGE _/ K CHARGE _/ TAGE 303030 PLUG & FLOA	/5/2 . 23 @ 7.70 @ 4/40 @ TOTAL	/32.00 /875.25 NT	
CHARGE TO: STREET CITY To: Allied Oil &	Ko Lu Si	S Ope	ZIP	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD	DB _277 ' K CHARGE _/ K CHARGE _/ TAGE 303030 PLUG & FLOA	/5/2 . 23 @ 7.70 @ 4/40 @ TOTAL	/32.00 /875.25 NT	
CHARGE TO: STREET CITY To: Allied Oil & You are hereby r	Ko Lu ST	S Ope	ZIP	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD	DB _277 ' K CHARGE _/ K CHARGE _/ TAGE 303030 PLUG & FLOA	/5/2 . 23 @ 7.70 @ 4/40 @ TOTAL NT EQUIPME! @ @ @ @	/32.00 /875.25 NT	
CHARGE TO: STREET CITY To: Allied Oil & You are hereby r and furnish ceme	ST Gas Servequested enter and	S Operations, LLC. to rent cent helper(s) to	ZIPZIP	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD	DB _277 ' K CHARGE _/ K CHARGE _/ TAGE 303030 PLUG & FLOA	/5/2 . 23 @ 7.70 @ 4/40 @ TOTAL NT EQUIPME! @ @ @ @	/32.00 /875.25 NT	
CHARGE TO: STREET CITY To: Allied Oil & You are hereby r and furnish ceme contractor to do	Gas Servequested enter and work as is	S Operations of the state of th	ZIP	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD	DB _277 ' K CHARGE _/ K CHARGE _/ TAGE 303030 PLUG & FLOA	/5/2, 23 @ 7.70 @ 7.70 @ 4/40 @ TOTAL AT EQUIPMED @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @	/32.00 /87.5.25 NT	
CHARGE TO: STREET CITY To: Allied Oil & You are hereby r and furnish ceme contractor to do done to satisfacti	Gas Servequested enter and work as is ion and su	S Operations of the state of th	ZIP	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD	DB _277 ' K CHARGE _/ K CHARGE _/ TAGE 303030 PLUG & FLOA	/5/2, 23 @ 7.70 @ 7.70 @ 4/40 @ TOTAL AT EQUIPMED @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @	/32.00 /875.25 NT	
CHARGE TO:  STREET  CITY  To: Allied Oil & You are hereby r and furnish ceme contractor to do done to satisfactic contractor. I have	Gas Servequested enter and work as is ion and so we read an	ices, LLC. to rent cen helper(s) to s listed. Tl upervision d understa	ZIP	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD  S L SALES TAX	OB _277 ' K CHARGE/ TAGE/ TAGE/ 30  PLUG & FLOA	/5/2, 23 @ 7.70 @ 7.70 @ 4/40 @ TOTAL	/32.00 /87.5.25 NT	
CHARGE TO:  STREET  CITY  To: Allied Oil & You are hereby r and furnish ceme contractor to do done to satisfactic contractor. I have	Gas Servequested enter and work as is ion and so we read an	ices, LLC. to rent cen helper(s) to s listed. Tl upervision d understa	ZIP	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD  S L SALES TAX	OB _277 ' K CHARGE/ TAGE/ TAGE/ 30  PLUG & FLOA	/5/2, 23 @ 7.70 @ 7.70 @ 4/40 @ TOTAL	/32.00 /87.5.25 NT	
CHARGE TO:  STREET  CITY  To: Allied Oil & You are hereby r and furnish ceme contractor to do done to satisfactic contractor. I hav TERMS AND C	Gas Serve requested enter and work as is ion and state of the condition of	ices, LLC. to rent cent helper(s) to so listed. The prevision dundersta DNS" listed	ZIP	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD  S L SALES TAX TOTAL CHA	OB _277 ' K CHARGE/ TAGE	/5/2. 23 @ 7.70 @ 4/40 @ 4/40 @ TOTAL	/32.00 /87.5.25	
CHARGE TO:  STREET  CITY  To: Allied Oil & You are hereby r and furnish ceme contractor to do done to satisfactic contractor. I have	Gas Serve requested enter and work as is ion and state of the condition of	ices, LLC. to rent cent helper(s) to so listed. The prevision dundersta DNS" listed	ZIP	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD  S L SALES TAX	OB _277 ' K CHARGE _/ TAGE30  PLUG & FLOA  (If Any) RGES _ 8/	/5/2. 23 @ 7.70 @ 4/40 @ TOTAL  AT EQUIPMEN @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @	/32.00 /87.5.25 NT	
CHARGE TO:  STREET  CITY  To: Allied Oil & You are hereby r and furnish ceme contractor to do done to satisfactic contractor. I hav TERMS AND C	Gas Servequested enter and work as is ion and state of the condition of th	ices, LLC. to rent cen helper(s) to s listed. The pervision d understa DNS" listed	ZIP  menting equipment of assist owner or the above work was of owner agent or and the "GENERA" on the reverse signal.	PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD  S L SALES TAX TOTAL CHA	OB _277 ' K CHARGE/ TAGE	/5/2. 23 @ 7.70 @ 4/40 @ TOTAL  AT EQUIPMEN @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @	/32.00 /87.5.25	



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

### Bill To:

Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202

## INVOICE

Invoice Number: 137240
Invoice Date: Jul 1, 2013

Page: 1

Now Includes:



Customer ID	Field Ticket#	Payment Terms
Lotus	59546	Net 30 Days
Job Location	Camp Location	Service Date Due Date
KS1-02	Medicine Lodge	Jul 1, 2013 7/31/13

Quantity	Item	Description	Unit Price	Amount
		Prester B #1		507.00
30.00	MAT	Class A Common	17.90	537.00
20.00	MAT	Pozmix	9.35	187.00
	MAT	Gel	23.40	46.80
150.00	1	ASC	20.90	3,135.00
750.00	1	Kol Seal	0.98	735.00
	MAT	FL-160	18.90	1,323.00
37.50		Flo Seal	2.97	111.37
223.00	1	Cubic Feet	2.48	553.04
319.50		Ton Mileage	2.60	830.70
1.00	l.	Production	2,810.84	2,810.84
30.00		Pump Truck Mileage	7.70	231.00
	SER	Manifold Head Rental	275.00	275.00
	SER	Light Vehicle Mileage	4.40	132.00
1.00		5.5 Rubber Plug	85.41	85.4
	EQP	5.5 Guide Shoe	280.80	280.8
1.00		5.5 AFU Insert	244.53	244.5
	EQP	5.5 Basket	394.29	394.2
	EQP	5.5 Centralizer	57.33	286.6
1.00		Darin Franklin		
	EQUIP OPER	Scott Priddy		
1.00	2000	,		
		Outhoral		Continue

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

2,439.89

ONLY IF PAID ON OR BEFORE
Jul 26, 2013

Subtotal	Continued
Sales Tax	Continued
Total Invoice Amount	Continued
Payment/Credit Applied	
TOTAL	Continued

## ALLIED OIL & GAS SERVICES, LLC 059546

Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092 SERVICE POINT:

Medicine Losse, Ks

DATE 7-1-2013	SEC.13	TWP. 295	RANGE 16W	CA	LLED OUT	ON LOCA	ATION	JOB START	JOB FINISH SLOOPM
		-			, 100	c d		COUNTY	STATE
OLD OR NEW C		13 – 1	LOCATION SU		, ,	_		14.604	1.75
OLD OR NEW (C	nete one)		Belviceer 5	31121	P, 7 h, 1 t	, 1/2 1/2		J	
CONTRACTOR	Duke				OWNER	otus	opere	ting	
	Prozuca	עמא דר	5012		CEMENT				
HOLE SIZE	778	L.D.	TH 4975		AMOUNT OF	RDERED	500	or 60!4	01 4906e1_
CASING SIZE 451/2 DEPTH 4975 TUBING SIZE DEPTH				150sr C	less A	BSC	+5# K	Ulsec1 +-5%	
DRILL PIPE DEPTH				P1160 5	+14#	flos.	e9/		
TOOL	DAILED I II G				. , . –				~37 AC)
PRES. MAX	RES. MAX MINIMUM				COMMON_	<u> </u>	54	-@ 17-36	537.00 187.00
MEAS. LINE					POZMIX _	_ <i>2</i> 0_	<u> </u>	@ 9.33 0 33.15	46.80
CEMENT LEFT I	N CSG.				GEL	2	علا	@	76.00
PERFS.	. 10011				CHLORIDE ASC	50 5×	•	@20.90	9 3135.60
DISPLACEMEN			Crahwater		Loiseal	758	) <u>*</u>	@. 98	735.00
	EQ	JIPMENT	•		F1-160	70	#1	@ 18.90	/323-00
					flosea C	37.5	? <del>*</del>	@ <i>2.9</i> 7	111-37
PUMPTRUCK		ER_DG						@	
#558-555	HELPER	Scer	- <del> </del>					_@	
BULK TRUCK #361-553	DRIVER	Asro	<sub>-</sub> ව					_@	
BULK TRUCK	DRIVER	V+510	N D,					_@	
#	DRIVER				HANDLING	223		@2.48	553.04
					MILEAGE _	10.65/	30/0	2.60	830.70
	RE	MARKS:						TOTA	7458.91
Seec									
246	enen						SERVI	ICE	
							- F1		
					DEPTH OF			26/0	84
					PUMP TRUC		GE	2810	
					EXTRA FOO			_@ <del></del>	231.00
				<del></del>	MILEAGE _ MANIFOLD	Hach	h- h 1 6	@	275.00
					MANIFOLD 30		PIP	@ 4.40	132.00
								@	
CHARGE TO: ↓	عديا مرا	0.00	Ction						10.01
CHARGE 10: 4	2000	- ger						TOT	AL 3448-84
STREET									
CITY	S	TATE	ZIP			DULIC A	P. EI () A	T EQUIPM	FNT
					54	rLUG e	x FLOA	II EQUII III	Live
					- 3/2	- Ot			85.41
					1- Pubbe	20109	ž		780.80
			-		1-15013	Dusory	<u> </u>	_ @	244.53
To: Allied Oil					1-395E	-		@	394.29
You are hereby	requested	to rent ce	ementing equipme	ent	5-Cent	rcli20x5		@ <u>57.33</u>	286.65
and furnish cer	nenter and	i helper(s)	to assist owner of	)[					.001.10
contractor to d	o work as	is lisica. Marvicio	The above work on of owner agent	or				TOT	AL/291.68
contractor 1 h	ave read a	nd unders	tand the "GENER	RAL					
TERMS AND	COMDIT	ONS" list	ed on the reverse	side.	SALES TAX	X (If Any)		100	./3
	1	\			TOTAL CH	ARGES_	12	199.	<del>م ب</del>
DD METERS AT 1.5	ar who	N1 /			DISCOUNT	r		16.1	DAID IN 30 DAYS
PRINTED NAM	ie VIII				DISCOOM	<u>, 1</u>	0 -	59.54	(
	10	7	<del>7</del>		(/	ひび	4/	ンフ・フダ	
SIGNATURE 7			1			-			
(	FI	0010	1001/11						
	//)	1111	111008						

Conservation Division Finney State Office Building 130 S. Market, Rm. 2078 Wichita, KS 67202-3802



Phone: 316-337-6200 Fax: 316-337-6211 http://kcc.ks.gov/

Sam Brownback, Governor

Mark Sievers, Chairman Thomas E. Wright, Commissioner Shari Feist Albrecht, Commissioner

October 10, 2013

Tim Hellman Lotus Operating Company, L.L.C. 100 S MAIN STE 420 WICHITA, KS 67202-3737

Re: ACO1 API 15-097-21762-00-00 Piester 'B' 1 SW/4 Sec.13-29S-16W Kiowa County, Kansas

### **Dear Production Department:**

We are herewith requesting that the Well Completion Form ACO-1 and attached information for the subject well be held confidential for a period of two years.

Should you have any questions or need additional information regarding subject well, please contact our office.

Respectfully, Tim Hellman

The production is from the Cherokee Sand, not Miss
Advise

Tim